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public class DateDemo

{

public static void main (String[ | args)

{
DateTry datel, date2;
datel = new DateTry();
date2 = new DateTry();
datel.month = “December”
datel.day = 31;
datel.year = 2014;
System. out. println(‘“Date 1:7);
datel. writeOutput();
date2.month = “July”;
date2.day = b;
date2. year = 2013;
System. out. println(‘“Date 2:7);
date2. writeOutput();

}
}
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Date?:
July b, 2013
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SATH] original.txt 7 A% FHIT1%& numbered.txt 7 AR
Unlike the scanner class 1 Unlike the scanner class
You must write your code 2 You must write your code
To read a single number 3 Toread asingle number

new BufferReader(new FileReader(“original. txt”));

BufferReader inputStream
PrintWriter outputStream =

new PrintWriter(new FileOutputStream(“numbered. txt”));
int count =0;
String line = inputStream. readline();

inputStream. close();
outputStream. close();

OT AR m@?];, 0?2 [44])
int num =10;

while (num >0)

{
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num = num - 2;

if (num == 0)
break;

if (num == 4)
continue;

System. out. println(num);

}
System. out. println(“The end.”);

OF RN FERGFNESFLER? [44])
int num, numl;
numl=0xA;
num = numl & 0x2;
System. out. println(num);
num = numl | 0x4;
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System. out. printIn(num);
num = numl & ~0x2;
System. out. println(num);

OF RN FERFNREELIRP? [44])
int array[ ] = {87, 68, 94, 100, 83, 78, 85, 91, 76, 87};
int total = 0;
for ( int counter = 0; counter < array. length; counter++)
total += array[counter];
System. out. printf(“Total of array elements: %d\n”, total);

@T AN PERFNREELZRP? [44])
StringTokenizer st = new StringTokenizer(“This is a string for exam.”);
System. out. println(“Total number of tokens: “ +st. countTokens());
String [ ] tokens = new String[st. countTokens()];
int 1 = 0;
System. out. println(‘“\nTokens are:”);
while (st.hasMoreTokens())
{
tokens[i] = st.nextToken();
System. out. println(tokens[i]);
1++;
}
EF SRR YA 4 s TRl E o [44])
int[ ] abc = new int[10];
for (int 1 = 1; i <= abc. length; i++)
abc[index] = 3*i;
P
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# » & w5t Taipei_Branch_Sale_information %2 Tainan_Branch_Sale_information ° 3w
B g
# & ¢ 4 - Taipei_Branch_Sale_information

Sales_Name Product Date Price
C.J. Wang TV 04-July-2013 22000
YY Chen DVD Player 03-July-2013 5200
Y.S. Chang TV 28-June-2013 22500
Y.E. Lin Washer 23-June-2013 25000
C.J. Wang DVD Player 22-June-2013 62000
# ¥ & # : Tainan_Branch_Sale_information
Sales_Name Product Date Price
L.J. Lee Washer 12-July-2013 26000
Y.E Chen TV 08-July-2013 22500
L.S. Chang DVD player 25-June-2013 5200
L.J. Lee TV 20-June-2013 25000

OB B SQLAp 4 - TN fe o ¢ o 1 26-June-2013 3 05-July-2013 2 B 41 5 el
g4k [54)
(D4 % Taipei_Branch_Sale_information # ¢ Sales Name =’ VY.S.Chang |, Product =
TV § - fesrg ReF > K% &4 Price e 23000 Bl SQL4p 4 5 2 [5 4]
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(Z) 4kt pn @ mYE Lin #7+ (Sales) &’ 13-July-2013" = ¢ #i- =2 TV ¥
(Price) = 23500 ~ » 3% &1 SQL 4p 4 ¥ r2 #-ig £ ot 4e T Taipei_Branch_Sale_information
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# & &4 ¢ Student_Score

StudentID Chinese English Computer
A100121 87 79 66
A100122 69 90 87
A100123 65 77 96
A100124 60 83 88

(3B 4% £ €+ 6 FoR 4 (Student_Score)® 45 21 English & 4 + »+ 80 4 chje 5 £ 51
(StudentID) » SQL 45 4 5 = ? [4 4]

O3 A 4% & 8 F & 7 A (Student_Score) ¥ 45 1 Chinese = 4% + %+ %%+ 65 4 » Computer =
¢ 435 80 A 3] 90 A 2. B chife & # 5 (StudentID) » SQL #Fl 2 ; w7 [44]

@# BN SQLIp L K G F %'%\(Student_Score)%] StudentlD 2 Computer =% » » ¥ &
5 Computer = 5 d BB A I MAs o [44]

@3 % 4 SQL 4 4 43 b & F AL & (Student_Score) ? Chinese = 45 sk % 4 - [4 4]

@3/ 2 SQL 4p 4 ¢ L & Tt & (Student_Score) @ #-English = 5 < 3t T 35E che § § 5.7
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